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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt All the questions.
A 2 wewldl WA (o) aglisefly usdl 8. ¢35 war A() 8.
ol uadidl G dvuil. \
1. ‘Who is the commander-in-Chief of the armed forces ?
(A) The Prime Minister (B) The Defence Minister
(C) The Home Minister (D) None of these
AUWL SOUAL Yoo SHISR sl ©7 -
(A) aSL uui-t (B) 8L U
(©) 38 HuA @) 1 Usl 518 el
2. No person accused of an offence shall be compelled to be a witness against :
(A)  himself - (B) others
(C) the police (D) others and police ‘ :
% SIS Al AN AALAL AW Y5 Ul Sid QAR ......... A€l 2iryan-l
5% ulsl sl Adl
A)  wdidl i (B ol wd
© deladl aR @) ol 2 vidladdl WA
3. Right to Privacy is a :
(A) Constitutional Right-only
(B) Fundamental Right under Artical-23 _ '
(C) Fundamental Right under Artical-19 (i) (d) and Artical-21
(D) Fundamental Right under Artical-21
use g wdadl A UL st usi-Al w112 &7
@A)  ua oigiella AR
(B) APgWe-3 2ad yaoyd AAsR
©)  wgdde-ae (1) (€) 2 2q2de-2a vi-ad yaoid RN
D) AdA9e-2 Al YA d vASR
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4. A distinguished jurist who is a citizen of India may be appointed as a judge
of :
(A) The High Court of State
(B) The Supreme Court of India
(C) The High Court of State and the Supreme Court of India
(D) International Court of Justice
ALl ARURS Siy dal HuR el ... Ay (Agls s wsy ¢
A)  Awurl asl vqeldd-l ARy
B) eld-l vl Aqsted-l b
(C) AUl asl eldd-il AR 2 AdlRA veldadHl B
D) AUdANL Ayl selddHl b
5. The right to property is :

(A) a fundamental right (B) a legal right
(C) alegal and constitutional right (D) a right which is absolute
Masd aaadl xR A .......... wnASR O
Q)  Hueid AR 8§ B) sl xnlBsR &
(€) sl A ofgielly vlAsi © @) A yAyel ARsR B
6. During emergency which of the following right can be suspended :

(A) Right under Article-19
(B) Right under Article-20 and 21
(C) Right Article-16
(D) Right under Article-16 and Article-19
seisdl e (A A4 s qR5A Redelld s usiy e
(A)  APee-1¢ Al SR
(B) ¥4A9e-20 A 1 2l ARSI
(C) dgAde-15 i+l wRAsIRA
D) gude-15 A 1 vieqd-Al RS0
7. The Constitution of India vests the power to make international treaties with
other countries in the :
(A) The President of India
(B) Prime Minister of India
(C) The President of India, but subject to ratification by the Parliament.
(D) Foreign Minister of India
MURdrlL olatQl, ey AL AR i wHygllall sl udt ...
2l & : ,
A)  Rdw A
(B) Ucd-l ASL Mat-A
(C) el vgHQr 2l cud-L AU
O) dAL [Qza wadA
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10.

11.

12.

The right of freedom of conscience and free profession, practice and propagatlon
of religion given under Article-25 of the constitution is :
(A) An absolute right

(B) Subject to public order, morality and health

(C) Subject to friendly relation with foreign states :
(D) Subject to public order, morality, health and to the other provisions

of part III
o2 AGAIE—Y v ?otcl'sl'il"ﬂ AddAdil A Ysd Ad @l e,
Yaatdl 2 del MALR Sl ¢85 ¢
a) Riysl ¢ss 8 |
B) AN Hayl, Qxtt vt @R 20 &
(©) [zl Al WA {1 Asiwd 2+ &
D) A&z AL, Al wre v LTI Al 21 Foradalia 2udl €
The chapter on fundamental duty was inserted to the constitution of India
by the :
(X) Twenty Fifth Amendment Act (B) Forty Second Amendment Act
(C) Forty Fourth Amendment Act (D) Fifty Second Amendment Act
oleneril suL Yl yaeid e9d uslel oaani GRami 2uey ¢

A) W M YuRl (B) ¥ Ml YU
C) x¥¥% Hl %l}ll?.l D) ux 1tl. ﬂﬂl%l
In case of ‘Power’ the jural opposite is :

(A) Immunity (B) Disability

(C) Liability D) Weakness
Al opoidnl de @z@w (Qu [@ias) ......... AU :
@) 4B (6343d) B [Rasdd

(C) waeielRl ®) [elaal

Who among the following is considered an exponent of utilitarianism ?
(A) Hobbes (B) Bentham

(C) David Hume (D) Grotius
fAunil 54 Guaillidiatedl wddl Ayl 2ud &7

(A)  slsy (B) G-y

(C) Slas gn ®) AiRun

Right against explotation is :

(A) a statutory right

(B) a common law right

(C) a fundamental right under Art1ca1 14
(D) a fundamental nght under Artical-23
A fﬂgmt sz :

@) dalds wAsR

(B) s dldl wulusie

(C)  q9e-1% il Yaoid st

D) 2g29e-33 al-l yaed x1ASR &
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13. Out of the following jurists whose theory of law has earned the name of “The
natural law with a variable content”.
(A) St. Acquinas (B) John Locke
(C) R. Stammler (D) John Rawls
QA A s el siuell QaRuel CyRadHysd [@otd grtadl AuRls

stuel”’— a3y wRle el &7 v
A) A2 AsaAdRY - (B) %eld dis
(©) R, RWHR D) el AR
14. Ownership to patents, copy right and trademarks is called :
(A) Incorporeal Ownership (B) Corporeal Ownership
(C) Equitable Ownership (D) Contingent Ownership
Yerz, sidlude x4 gsrusl wlasl, ............ sy -
Aa)  »yd wlasgl B) ¥d Hlasl
© wxdl wulasl O) 2us>s wlas) “
15. A precedent may create a new law for the first time, it is called :
(A) Legal Precedent (B) Creative Precedent M
-(C) Original Precedent (D) Declaratory Prcedent ‘
ydlrela uau auid o al staeld Fale 53 didd L., sdaly :
@) st ydlRely B) uzB-Us ydlely
©) Allas ydFel ®) dineucs ydHely ~
16. Match List I with List II and select the correct answer : X
List I List II
(@) Thomas Acquinas (1) Natural law theory
(b) John Austin (2) Theory of justice
(¢0 Kelsen (3) Law as command
(d) Rawls (4) Pure theory of law
@ ® © @ .
(A) 1 3 4
B) 3 4 2 1
©) 4 2 3 1
(D) 2 4 1 3
List I 21 List IT #igll yiod sl waie s3I0 A1l G el :
: List I List II -
(@ A sl (1) -RBls siuel
(b) %8I HiRe @ -yl Qakarel
© 3R (3) suel ey d3
d) AR @) swueldl Rye Rgid
(a) (b) (c) (2))
(A) 1 3 4 2
B) 3 4 2 1
©) 4 2 3 1
D) 2 4 1 3
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17.

18.

19.

20.

21.

" “A state becomes an international person-through recogmtlon only and

exclusively.” Who made this statement ?

(A) Starke (B) . Oppenheim

(C) Lauterpacht : (D) Kelsen

“‘il?l et yaael o A% A5 AU AUlBd oA 97— 2L siq Qa
£

(A) LE (B) uAsISH

(C) 420 D) 3 -

The nations of the world met at Sanfancisco in a conference and U.N. Charter
was signed : :

(A) On June 26, 1945 (B) On November 1, 1945

(C) On October 15, 1945 (D) On October 24, 1945
Q{L*w[\d%t Wil Rrasdl 2aill uRMe Holl wA Ww:tvu WAYAHL ... -l
AUx Wl 530

(A) RS i, WY B) a dl rtclwtz ¥y
(C) u H{l tiseler, acwy D) ¥ H{l 2iseier, Rl
The seat of the Internatlonal Court of Justice 1s at : ‘

(A) Geneva (B) The Hague

(C) New York (D) Rome

AR UNY ~u-l vetdd sui A 97

@A)  olRraml (B) Sai

(©) ~yuisul D) UHAL

On which day the United Nations adopted the Universal Declaration of Human
Rights ?

(A) On November 4, 1950 (B) On January 26, 1947

(C) On December 10, 1948 ‘ (D) On October 30, 1950

Hidd essly HIMRUUAL AYS ARgABHL s Rad 2idllgd sl 2u ¢
(A) ¥ 4R, 1o - (Rad (B) S Ay, 1we¥e U Rad
(© 10 Slzlwtz 1eye - Rad, D) 30 iiseier, 1o - [Rad
“International law is the body of customary and conventlonal rules which
are considered legally binding by civilized states in their intecourse w1th each
other.” This was stated by :

(A) J. G. Starke (B) Grotius

© Schwarzenbergar . (D) Oppenheim

“AidR B siqel A Adl 3R3d 2 Malsd (sArara) Rudl 8, ¥4,
Aoy 299 Nididl Bsoflof AN AdeIRHl suRAR A GadsRs WAl B
~ Sl gl sl 2y

A) %.2. 0l (B) Allun

(C) QARG D) iueLsH
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22.

23.

24.

A judge of the International Court can be dismissed by the :

(A) Security Council

(B) General Assembly on the recommendation of the security Council

(C) Unanimous opinion of the other judges of the Court

(D) Unanimous decision of the General Assembly

Al B ~uasl veldd-a aBad s (g2 530) ods s3I wd o

@A aamfa A

B) uald uBFfdl senne el wsmen | _

(C)  id ARy -l vistedr oflog 2iwy i dalgiad 2l »uddl
vyl

D) HewRetrl Aaldud dadal Feluel ‘

There are two schools of Hindu Law : Mitakshara and Dayabhaga. As regards

to their territorial significance which one of the following statement is not

correct :

(A) Mitakshara school prevails in Mithila, Banaras, Bombay and South India

(B) Dayabhaga school prevails in Bengal, Assam, Tripura, Manipur and
Meghalaya

(C) Mitakshara school prevails even in the Dayabhaga jurisdiction in which
Dayabhaga is silent

(D) Dayabhaga school prevails even in the Mitakshara jurisdiction in which
Mitakshara is silent

[Bg swetdl A wrudl 8 @ Bl 2 sleen da @stfsil wecad

glewul (1A Usl sy [Qeust wig © ¢

@A) B s RRAL, oA, ool ¢4 el cuddl wad &

(B) £luleioll il opud, M, [(Biyu, Hely: x4 Amaydi vad ©

(C) % &lAsil clneidl Hid 8 ddl sleidll vl SsRstHl
Fctatxt e yad ©

D) % AsuRsAl Bdtal {id ® dat Bciat weust asifsiayl v slaeiou
vt wad 8

Which one of the following does not make the marriage null and roid ?

(A) Neither party has a spouse living at the time of marriage

(B) Parties should not be within the degree of prohibited relationship, unless
the customs or usages governing each of them permits such a marriage

(C) Neither party should have been convicted for any sexual offence

(D) Parties should not be sapindas of each other unless the customs or usages
governing each of them permits such a marriage

(A4 Ul 56 ouold @ 2 214 e oslde oladl -l :

(A) @t AHA vastl WSl siSi wer w/ucdll R el

(B) @dsiril u&tslglvtt 30 3 R -y sul gin d Rt Bruiui ueifd
el @onl ud wsd Al
(©) s U uasiz ol sl MR AR &l A Sidl ASA

D) @ttt wasRi-l 3R 3 Raud - sul iy A R Brruviul wlbsll
WAAL @l A4S wsA Al \
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25.

26.

217.

28.

20.

Whether the marriage of an impotent person under the Hindu Marriége Act,
1955 is :

- (A) ' Valid “(B) Void
(C) Voidable D) Void of initio
ao MR, ey uvqﬂ 4 14As Al wAg @
@)  aud (B) o
©) <addly D) 2wItHAl o a8
Which one of the following is not a recognised ground of divorce ?
(A) Adultery (B) Desertion
(C) Refusal to give dowry (D) Cruelty
QA4 Y5l sy @olaxded uenel s1@ -l :
@) A (B) ol
(C) 8% JUualdl S5l D) &l
Which one of the following is not a recognised concept of Family Law :
(A) Child marriage (B) Guardianship and maintenance
(C) Succession i Marriage
A U4 sy S0 stuetdl vid ds wlsiuy, Al :
A)  eun @ : B) Adlugl ¢ YN
(C) Al - (D) @+

When a Muslim wife can remarry ?

(A) Immediately after dissolution

(B) Shall have to wait till the period of Iddat is- over
(C) Shall have to wait for one year

(D)  None of the above

YRau uell ofl¥ e swm 53 wy?

A) @t [Quw uedl dad s3I Ul

(B) OSedll AHU Y Wy Al Y AS AU uyl
©€) As a Yl e Al us

D) Gy Y4 s Al

Y’ accepts the proposal of ‘X’ by posting a letter of acceptance to X’. The above

acceptance :

(A) cannot be revoked by Y’ as he has already accepted the offer and dropped
the letter of acceptance

(B)  can be revoked by Y as soon as the letter of acceptance reaches X

(C) can be revoked by Y’ before the letter of acceptance reaches X

(D) can be revoked by Y’ at any time after the letter of acceptance reaches
0.4

‘X gL sl 20ddl evRd-l dlgla-l e, Y A wa avlii s, 20

deelnl A4 Ul sy Y © -

@) Y A wt avfl euiiradl sz sl @, Aell QR 2% 53 wsiy Al

B ‘X’ A elslauat Hour ugl, ada agd] a3, V' dlsRA 2w 530 W

© ‘X" A dlglauat wour udai Y’ dlglan € 53 A3

@) ‘X’ A dlglavat v el ol cuR Y dlgla e s

Law—II 9 ’ ~ , P.T.O.



30.

31.

Match list I with List II and select the correct answer :

List I List II
(@ Section 10 (1) Agreements in restraint of Trade
(b) Section 27 (2) Essentials of a valid contract
(¢) Section 64 (3) Unlawful considerations and object
(d) Section 23 . (4) Consequences of rescinding a
* voidable contract
(@) (b) (o) (2))
(A) 2 1 4 3
(B) 2 4 1 3
© 3 4 1 2
®) 3 1 4 2
List I i1 List IT il diow oSl oi-icll Al aier wie s :
List I List II
(@ $4¥ 10 (1) AWR AAUAS $UAAU
®)  sau 27 @ uadl s wrdl
(© 44 64 (3) sl [A3gril »dy w4 &g
(d) %544 23 (4) WA A4l SAUIN W $iHL
yReuxl
(@) (b) © ()]
(A) 2 1 4 3
B) 2 4 1 3
(C) 3 4 1 2
D) 3 1 4 2

Mark the incorrect statement :

(A) Misrepresentation renders a contract voidable

(B) Misrepresentation may be innocent

(C) In case of misrepresentation it is a good defence to claim that the victim
had the means of discovering the truth by ordinary diligence

(D) Misrepresentation is the same thing as fraud

54 R wig ® :

(A) AP A, A i Wt oAl 8

B) Aopd Fely &l AdA

© A%l sl sidendlni, A ogtdsAl ofiol ol et Wl wall
R Aaall Yyl ds edl, ddl ogid s@aani drgd ol

M) SR7AUA L N[0 %

Law—II 10




32.

33.

34.

35.

_A notice in the newspapers inviting tenders is : '

(A) a proposal (B) an invitation to proposal

(C) a promise ' (D) an invitation for negotiation
wuio UL 26 Wl iR A :

(A) €uRA & (B) tUlRel i3 wHAR &

(C) au & (D) dl2lEle sdl Hi2d, i 8

A contract becomes impossible to perform if :

(A) The goods are not available in the market

(B) Workers are on strike

(C) Subject matter was destroyed at the time of contract
(D) Raw material is not supphed

5 WAl 523G AU oA O A ¢

(A) °t°6l?."ll Hid &lYR él‘{ ol

(B) SIHEIRL sSdld GUR &ld

(C) 53U [?quzq,vﬁ $U2 sl quid -uy wdl

D) sl yast 4 waal

Consider the following :

(1) Damages (2) Breach of duty .
(8) Duty to take care

" The correct sequence in which the liability for tort of negligence will arise‘

1S °

@ 1 2 3 ® 3 2 1

© 2 3 1 ® 3 1

Qe gl Feuoell Asdl sa w2 Al opoidin % sl culaani
il § A Aoy syl dlsdl ARl U wie 53 ¢ ‘

no

1  asaedl (2) %+l e{d)

3) s ddidl 5%

@A 1 2 3 B) 3 2 1
€ 2 3 1 D 3 1 2

Principle of Res ipso Loquitor was discussed in :
(A) Donogue Vs. Stevension

(B) Shobhagwanti Vs. Delhi Administration

(C) Kasturi Lal Raliaram Jain Vs. State of U.P.
(D) In all the above cases

suL L ‘arg 2l olld 87 Al Rl bl sdl?
(a) sy Rg WaA

®B) wendddl Qe Redl &sw{lvﬂzaam

©) sqlane Al ¥ [Ag w2 2is Y.,

D) GUIAL dHH I

Law—II _ 11 ' P.T.O.



36.

37.

38.

39.

In which of the following cases, doctrine of remoteness of damages was

discussed ? _

(A) Derry Vs. Peek (B) Bird Vs. Jones

(C) Stephen Vs. Myres (D) In Re Polemis

QA A s 3l qsulll gadl’’ Al Rgia 24l sdl?
@A) 8 Qe s B o8 @Ag A

©) ¥Ws Qe wurl ®) A widla-u duHi

Ubi Jus ibi remedium means :

(A) Every law provides for remedies

(B) There is no wrong without remedy

(€ (A) and (B)

(D) None of the above

oYUl 855 AUl Guy ed

A) €35 sl Guidi-l Aotaus sid &

(B) Gwa aolRg AusA L 8IS w3

(C) (A) 1 (B)

@) Gud siS ey usd -l

Which of the following is the essential characteristic of tort ?
(A) Right in Personam - (B) Contractual Right
(C) Right in Rem (D) None of these
QA U4 5y AHugAd 2laes qq &

Q) S ya ald Al 1R

B)  sA%WU AN

©) AR (Qxq) wdA xufs

M) Gud siS @y, usg -l

‘Vis Major’ means :

(A) Act of God (B) A major vice

(C) The main ground for action (D) None of these
‘dly Ay’ Aed :

(A)  Ssard s B) s S gy

(C) waal dal W2d ywu s1e D) 2ude V4 siSyel Al

Law—II 12




- 40.

41.

42.

In which of the following cases the doctrine of ‘Sovereign functions’ was applied ?

(A) Vidhyavati Vs. State of Rajsthan

(B) Kasturilal Raliaram Jain Vs. State of U.P.

(©) Bhim Singh Vs. State of J&K

(D) Rudal Shah Vs. State of Bihar

QA VS0 s 3wl “udeld s’ Al Riaid @y wsdl edi?

@A) Reaadl Qg R2 2is ARAA

@) sdleud A F1 Qe w2 s 3.l

© oluRin Q. Rz s ¥y A-s sl

@) 3ed ws g w2 s [BeR

A contract formed as a result of mistaken identity of the other party renders it :

(A) Voidable B) Void

(C) Illegal (D) Unenforceable

5URAL uatslum YRdA 2ivicudi 2iddl opadl $A-SAURL 2l etq dl

d 52U

A)  ad gl WL 8§ B) wd 8

(C)  AURAR & @) $AG W sudl usig s

X, Y and ‘2’ made up their minds to beat ‘B’. While they were going on

their way ‘X’ found his old enimy there in way. In hetty talks X stabled ‘B’.

Point out correct answer from the following :

(A) X, Y and Z are liable for murder because the act was done in the presence
of all

B) X, Y and Z are liable because X got encouragement from Y & Z .

(C) X only is liable because act was not done in furtherance of common
intention

‘D) X, Y and Z are liable Because act was done in furtherance of common

intention of all

X, Y21 Z 3 B mzcug 54l sy eg, g A Widirll 22 %S Wl el
U AWalHl X A idi-l °q:u goirt Heyl, G atdfldul X A B A dlaa s
izl €lg. (Al Wl wae lal :

(A) X, Y 27 Z v M2 FAUGER 8 S8 3 ggq aiell sl uy ed
B) X, Y\ Z UEIR S 510 3 X A Y 2 Z sl MUs- 1YY od
(C) 850 X %AGElR O 18 5 4 ALY SAUL W wsdl 4y - ¢g
M) X, Y oA Z %AGelz & 5128 3 U A= SUALL W sl Uy 84

Law—]T 13 | P.T.O.



43.

44.

X’ abets ‘B’ to burn Z’s house, B burns Z’s house and at the same time commits

theft of property from the house, pointout the correct answer from the following :

(A) X is liable for abetment of burning house of Z

(B) X is liable for abetment of burning house and committing of theft of
property there

(C) X is liable for abetment of burning house and not for theft of property
as theft is a distinct offence

(D) X is liable for abetment of burning house and of theft of property as
the act was done in the same sequence

X, B Z g ar cuaal ueedul 53 8. B, Z ¢ 4R Ul 8 21 Q AHA aidl

Brasdadl ail 53 6. (Al WA ovae WAl :

A)  Z - 8 enaami qeedu] Hi2 X wdleell 8

(B) 3 cldal W2 2R o A 23] Basd-{l A0 Heeon] e X sawieir
&9

(C) uR euaaii Heedu Il 2 X seelr € uid Rasd-l A W2 waueeir
2l s1eel 3 AR AdA YAl B

O 8 chail Heeou?l W2 duy Masdadl A W2 X wasel 9 519
5 5 s % uerlsHAl uY ed

Which one of the following statement is correct to attract the provisions of

section 354 of the Indian Penal Code, 1860 ?

(A) Whoever assaults to any woman intending to outrage her modesty or
knowing it to be likely that he will thereby outrage her modesty

(B) Whoever uses criminal force to any woman intending to outrage her
modesty or knowing it to be likely that he will thereby outrage her
modesty

(C) Whoever assaults or uses criminal force intending to outrage her anodesty
or knowing it to be likely that he will thereby outrage her modesty

(D) Whoever assaults and uses criminal force intending to outrage her
modesty or knowing it to be likely that he will thereby outrage her
modesty

dld €5 RAlddl, 1¢50 -l san 3wy Al Adadyl Ay wsar w2 (At

U4 sy Qat wy 8?7

@A) 5 1+l yulei-ll oo s SAR vimal a-ull ael- Hulel ooy ya
Aod 8§ ag welid ¥ siS gual s

B) 55 u 0 Y deldl yufeiil oidl sl SUL 2al A A Al
wyleidl ofoL aar dAea © dg el ¥ S5 ulRd s iyl

© ARl ufetrl oot st $AL vaar A A Al waleid Q oo 53
Adl A ® ad A guel 53 3 R o ayd

@) aAell-l yquleidl ofar st SR »aaL Aol wafeldl oo aal Asa
8 ad Alld ¥ 515 gudl 53 ¥ QulRd o qrul

- Law—I1 14



45.

46.

47.

G, a twenty years old married girl, is standing at a levely place waiting for
someone. ‘B’, a third person, goes to the girl and utters some filthy words

‘to her. Point out the correct answer :

(A) ‘B is liable ws 294 of the Indian penal code, 1860

(B) ‘B’ is liable u/s 354 of the Indian Penal Code, 1860

(C) ‘B’ is liable u/s 509 of the Indian Penal Code, 1860

(D) ‘B’ is liable u/s 498 of the Indian Penal Code, 1860

G la -l As velld ©is] Asid @A A5 udlawni Qell 8. B s Aled
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In which of the following objects the general fundus of a registered Trade

Union shall not be used :

(A) The payment of salaries to office-bearers of the Trade Union

(B) The compensation to members for loss arising out of trade disputes

(C) Expenses for the holding of political meetings and distribution of political
literature

(D) The payment of expenses for the administration of the Trade Union -
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In which of the following cases the Supreme Court had given a very wide

interpretation to the word ‘Industry’, under the I.D. Act, 1947 ?

(A) Safdarjung Hospital Vs. Their Workmen

(B) University of Delhi Vs. Ramnath

(C) Bangalore Water Supply and Sewage Board Vs. Rajappa

(D) Cricket club of India Vs. Bombay Labour
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48.

49.

50.

Which one of the following statement is not true in relation to lock-out ?
(A) The closing of place of employmeht

(B) ‘Closing of the business

(C) The Suspension of work

(D) The closing of the place of business
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Under the 1.D. Act of 1947, illegality of a strike is a matter within the jurisdiction
of :

(A) Labour Court

(B) Industrial Tribunal

(C) Labour Court or Industrial Court

D) Industrial Court
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Which of the following is recognised as an instruments of collective bargaining ?

(A) Strike (B) Lockout

(C) Strike and Lockout (D) None of these
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